2.1 & 2.2 HOMEWORK S
(INDUCTIVE AND DEDUCTIVE REASONING) ,
HW #:__ 2
When you use I\Hu AMR( l /" reasoning you are generalizing from careful

observation that something is probably true. When you use

Ded uCAive reasoning you are establishing that, if a set of properties is

accepted as true, something else must be true.
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ZA and £B are complementary. m ZA=25°, What is mz8? mLB=40-15

What type of reasoning do you use when solving this problem? Q_e@ d}_ VE

Tf the pattern continues, what are the next two terms? /\ & @ @
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What type of reasoning do you use when solving this problem? |\\dlUcHye

The definition of a parallelogram says, "If both pairs of opposite sides of a quadrilateral are
parallel, then the quadrilateral is a parallelogram.” Quadrilateral LNDA has both pairs of
opposite sides parallel. What conclusion can you make?

LNDA 15 & povaliglg AVaW)

What type of reasoning do you use when solving this problem? )¢ gj A (_"I.‘l"]\j,-’_}

Use deductive reasoning to solve the following equations. Next to each step, justify what
you have done with a reason.
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Use inductive reasoning to find the next two terms of the sequence.

a. 180,360, 540,720,100, 1090

Draw the next two shapes in the sequence.




Directions: In each problem below, the GIVEN information will lead

you to a CONCLUSTON based on the geometric definitions. Using the
diagram and the GIVEN information, determine what direct conclusion
with a definition.

1. Given: AC=CB

Conclusion:

2. Given: Point D is a midpoint
ao_“m,:ma:.. A o c

Al) =

3. Given: COLAB

Conclusion: / (_DH =

4. Given: BD bisects ZABC
ARDNS g

Conclusion: L AV )= [ DTA_

9. Given: 2 intersecting segments

Conclusion:

10.

Given: AABC is isosceles with base AC B

Conclusion:
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A = BC

Given: /1is complementary to £2

Conclusion:

::hlﬂ ..TEM.\\MM = P,—_“:

Given: BD bisects AC B
Conclusion:
AD = G
A D C
Given: E is the midpoint of AB
_ C D
Conclusion:
MW = tB

Given: Diagonal AC bisects diagonal BD

Conclusion:

DE = BE




